

## Ajouter et soustraire deux fractions mixtes (D)

Nom: \_\_\_\_\_

Date: \_\_\_\_\_

Note: \_\_\_\_\_

Calculez chaque résultat.

$$1. \quad 1\frac{2}{4} + 2\frac{2}{17} = \text{---} + \text{---} = \text{---} + \text{---} = \text{---} = \text{---} = \text{---}$$

$$2. \quad 9\frac{4}{5} - 5\frac{2}{4} = \text{---} - \text{---} = \text{---} - \text{---} = \text{---} = \text{---} = \text{---}$$

$$3. \quad 1\frac{6}{8} + 4\frac{6}{7} = \text{---} + \text{---} = \text{---} + \text{---} = \text{---} = \text{---} = \text{---}$$

$$4. \quad 4\frac{2}{4} + 4\frac{4}{9} = \text{---} + \text{---} = \text{---} + \text{---} = \text{---} = \text{---} = \text{---}$$

$$5. \quad 6\frac{1}{3} + 2\frac{1}{7} = \text{---} + \text{---} = \text{---} + \text{---} = \text{---} = \text{---}$$

$$6. \quad 1\frac{5}{7} + 4\frac{13}{15} = \text{---} + \text{---} = \text{---} + \text{---} = \text{---} = \text{---}$$

$$7. \quad 6\frac{1}{2} - 3\frac{2}{15} = \text{---} - \text{---} = \text{---} - \text{---} = \text{---} = \text{---}$$

$$8. \quad 6\frac{10}{11} - 2\frac{3}{5} = \text{---} - \text{---} = \text{---} - \text{---} = \text{---} = \text{---}$$

$$9. \quad 8\frac{1}{2} - 4\frac{2}{9} = \text{---} - \text{---} = \text{---} - \text{---} = \text{---} = \text{---}$$

$$10. \quad 9\frac{1}{3} - 7\frac{9}{14} = \text{---} - \text{---} = \text{---} - \text{---} = \text{---} = \text{---}$$

## Ajouter et soustraire deux fractions mixtes (D) Réponses

Nom: \_\_\_\_\_

Date: \_\_\_\_\_

Note: \_\_\_\_\_

Calculez chaque résultat.

$$1. \quad 1\frac{2}{4} + 2\frac{2}{17} = \frac{6}{4} + \frac{36}{17} = \frac{102}{68} + \frac{144}{68} = \frac{246}{68} = \frac{123}{34} = 3\frac{21}{34}$$

$$2. \quad 9\frac{4}{5} - 5\frac{2}{4} = \frac{49}{5} - \frac{22}{4} = \frac{196}{20} - \frac{110}{20} = \frac{86}{20} = \frac{43}{10} = 4\frac{3}{10}$$

$$3. \quad 1\frac{6}{8} + 4\frac{6}{7} = \frac{14}{8} + \frac{34}{7} = \frac{98}{56} + \frac{272}{56} = \frac{370}{56} = \frac{185}{28} = 6\frac{17}{28}$$

$$4. \quad 4\frac{2}{4} + 4\frac{4}{9} = \frac{18}{4} + \frac{40}{9} = \frac{162}{36} + \frac{160}{36} = \frac{322}{36} = \frac{161}{18} = 8\frac{17}{18}$$

$$5. \quad 6\frac{1}{3} + 2\frac{1}{7} = \frac{19}{3} + \frac{15}{7} = \frac{133}{21} + \frac{45}{21} = \frac{178}{21} = 8\frac{10}{21}$$

$$6. \quad 1\frac{5}{7} + 4\frac{13}{15} = \frac{12}{7} + \frac{73}{15} = \frac{180}{105} + \frac{511}{105} = \frac{691}{105} = 6\frac{61}{105}$$

$$7. \quad 6\frac{1}{2} - 3\frac{2}{15} = \frac{13}{2} - \frac{47}{15} = \frac{195}{30} - \frac{94}{30} = \frac{101}{30} = 3\frac{11}{30}$$

$$8. \quad 6\frac{10}{11} - 2\frac{3}{5} = \frac{76}{11} - \frac{13}{5} = \frac{380}{55} - \frac{143}{55} = \frac{237}{55} = 4\frac{17}{55}$$

$$9. \quad 8\frac{1}{2} - 4\frac{2}{9} = \frac{17}{2} - \frac{38}{9} = \frac{153}{18} - \frac{76}{18} = \frac{77}{18} = 4\frac{5}{18}$$

$$10. \quad 9\frac{1}{3} - 7\frac{9}{14} = \frac{28}{3} - \frac{107}{14} = \frac{392}{42} - \frac{321}{42} = \frac{71}{42} = 1\frac{29}{42}$$